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Prove that if one angle of a triangle is equal to the sum of the other two angles, the
triangle is right angled? -

In the ﬁgure, the bisectors of angle ABC and angle BCA interseﬁt each other the
" point O. Prove that <BOC =90 + -—12—<A : /
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In figure, a is greater than by one third of a right angle. Find the values of a and b?
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Prove that, if two parallel lines are intersecied by a transversal, the bisectors of any

' pair of alternate interior angles are paraliel.

" Iftwo parallel lines are intersected by a transversal, prove that the bisectors of the

‘interior angles on the same side of transversal intersect each other at right angles.

A triangle ABC is right angledat A. AL is drawn perpendiculat to BC. Prove that
<BAL =<ACB ' -

Prove that the angle' between internal bisector of one base angle and the external

 bisector of the other base angle of a triangle is equal to one-half of the vertical angle. |

- The side BC of a triangle ABC is p’roduce&l such that D is on a ray BC. The bisector

of <A meets BC in L as shown in the p;‘cnne. Prove that <ABC + <ACD =2<ALC
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12. The side BC of a AABC produced on both sides. Show that the sum of the ex*tenor
angles so formed is greater them <A bv two nght angles



